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2.5 Distributive Property - Day 1 ?
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2. Describe how you can start with the expression on the
left and get the expression on the right.
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3. a) 4(x+3) b) x(2x+7) c) 3x(x+2)
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When you apply the distributive property,
you are expanding an expression.

A(B+¢)=AB+AC|

Ex. 1 Simplify. —— means the same as "expand" or "get rid of brackets"

A~
a) 5(4x-1) b) -3(2x-7)

= 0x~5 — _(x +2)\

Using an area model...
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c) -1(2x - 4) d) 3-2(7+6x)
< -2y =3 -1 -1y

= =l =1y
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Now you try a few....
e)-4(y-5) f) 2(x +2)
- ~qa+10 = - dy+Yy
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Remember: Use the product rule for avs b a+h
. L (M)(m”)=m
exponents if multiplying the same bases.
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a) 8m(2m + 5m?) b) 4x(1 - 2x) - 7x(3x - 4)
= \QMAQ + "ION\1
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c) 5[x + 3ix+2)] d) -4[5(m-3)-m]
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